COMPONENTS , FIXINGS AND CONSUMABLES 2014, © Hafele U.K. Ltd 2014. Dimensional data not binding. We reserve the right to alter specifications without notice.

HAFELE

ADJUSTABLE

FITTINGS

M10 PLINTH ADJUSTING SCREWS

M10 plinth adjusting screw

> M10 x 60 mm with SW5 hexagon socket and with SW8 square
nut for adjusting from below

> Galvanized steel with stainless steel foot plate and plastic glide

/1(3 > Order gty: 1 pc

f
|

8
0 50
— }
> Hex keys for adjusting are
° e bR e Footplate/Glde fiish  GatNo.
Brushed stainless steel/Black 637.00.020
M10 screw on bracket
> Galvanized steel
> Order gty: 1 pc
Supporting
bracket for o
side panel e
L 30 mm x e

W 14 mm 15<

A=A
HOSPA

\04.5/

M10 130 kg 637.30.980

CASTORS, FEET AND LEGS /119





